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1.

GENERAL STUDIES

‘Make in India’ campaign was jaunched
on

{A) October 2, 2014

(B) September 25, 2014

(C) January 26, 2014

(D) August 15, 2014

Which animal is declared as ‘Aghanya’
in Rigveda ?
(A) Sheep
{C) Horse

(B) Cow
(D) Goat

As on January 15, 2015 the status of
Repo Rate modified by RBI was

(A) 8.0%
(B) 7.75%
(C) 8.25%
(D) No modification

‘Xerophthalmia’ is the disease caumi by
deficiency of

(A) Vitamin B,,
(B) Vitamin C
(C) Vitamin A
(D) Vitamin K

Which country is called “The sugar bowl
of the world" ?

(A) Cuba (B) Italy
(C) India (D) Japan
A keel is absent in

(A) Ostrich (B) Duck
(C) Chicken (D) Peacock

(9"2,9 Wém Bl

7.

10.

1L

12

Which Article of the Constitution
defines the duties of the Chief Minister 7

{A) Article 162
(B) Article 164
(C) Article 165
(D) Article 167

Which of the following is the fastest
memory 7

(A) Hard Disk

(B) DVD ROMs

(C) Static RAM

(D) Cache Memory

Which one of the following is not

formed in our body ?
(A) Vitamin A  (B) Protein
(C) Enzyme (D) Hormone

Which of the following planets does not
have satellite ?

(A) Earth (B) Mars

(C) Jupiter (D) Venus

Who amongst the following captained the
Sri Lankan Team in the final match of

ICC world T20 between India and Sri
Lanka held in April 2014 in Bangladesh ?
(A) Kumara Sangakara

(B) Mahela Jayawardhane

(C) Lasith Malinga

(D) Kushal Parera

Which zone of the Indian Railway is the
shortest one ?

(A) Delhi Metro

(B) Mumbai Metro

(C) Kolkata Metro

(DY Ban,galure Metro
ﬂﬂl‘c"“
w paina



15.

16.

17.

18.

Quartzite is metamorphosed from
(A) Limestor

(B) Plutonic rock

() Sandstone

(D) Shale

Arihant is a

(B) Airborne Early Warning and Control

System.

(D) Nuclear-Powered Ballistic Missi

Submarine.

Whﬂmg‘t the fﬂuuwing jﬂinﬂ[ -
Deputy Governor of Reserve Bank of
India in July 2014 ?

(A) Kaptan Singh

(B) Dr. Amarjeet Singh

(C) Dr. C.A. Bandopadt =

(D) S.5. Mundra

most suitable for cotton cultivation 7 l

(A) Regur soil
(B) Laterite soil
(©) Alluyial soil
(D) Red soil

The 7® BRICS summit of 2015 was held
in Russian city of

(A) Abaza
(© Kotovo

(B) Balakovo
(D) Ufa

Which one among the following is a
plant hormone 7

gy (B) Thyroxi

21.

s " i the
autobiography of .

(A) Syed Ahmad Khan

(B) Muhammad Ali

(C) Abul Kalam Azad

(D) Zakir Hussain

Which of the following countries have

an unwritten Constitution 7
(C) USA D) lem
How many strings are on a Sarod ?
sl B) 7
9 (D) 19

(A) Brightness
(B) Luminous intensi
(D) Luminous flux '

Themanﬂhynmmsh
is located at C

o (B) Bhopal
(C) Gwalior 5
Dry Ice is nothing but

(A) Washing soda
(B) Carbon monoxide

(©) s carbive R
(D) Solid carbon dioxide

The immortal song V . e
been written by Vande Matar
{A) Rabindranath Tagmf

(B) Surendranath Bandopadhysy

(C) Bankim Chandra Chattopadhyay

(C) Gibberellin (D) Estrogen ar
: M e
it LA
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MATHEMATICS (Quantitative Aptitude)

26. If the number is added to two-fifths of 32, Six boys can complete a piece of work in
itself, the value so obtained is 455. What 42 hours. In how many hours will 14
is the number ? boys complete the same piece of work ?
(A) 425 (B) 526 (A) 18 (B) 17
(C) 325 (D) 562 (C) 16 (Dy 15

33. Ram purchased an item for ¥ 8,200 and
2
27. (\6+1) =7+2/6 sold it at & gain of 35%. From that
(A) 7 (B) \7 amount he purchased another item and
sold it at a loss of 20%. What is his
© 4\'5"'? ) 4'\5 overall gainfloss ?
(A) T655gain  (B) ¥ 656 gain
28. The body weight of seven boys is (C) T655loss (D) 656 loss

recorded as 70 kg, 64 kg, 55 kg, 81 kg,
45 kg, 76 kg and 92 kg. What is the
average body weight of all seven boys ?

W =117

(A) 187 (B) 186
Guiet ke By It (©) 185 (D) 184
(C) 65kg (D) S6kg
35, What is the least number to be added to
29. The cost of 4 bags and 12 purses is 4523 to make it a perfect square 7
2 1,520. What is the cost of 10 bags and (A) 101 (B) 105
30 purses ? (C)  110. (D) 238
(A) T3,500 (B) 5,300
(C) 73,800 (D) T2,800 36, The total number of students in a school
is 31700. If the ratio of boys to the girls
in the school is 743 : 842, what is the
30. One of the angles of a parallelogram is total number of girls in the school 7
35°. What will be the sum of the largest (A) 16650 (B) 16830
angle and twice the smallest angle of the (C) 16840 (D) 16680
parallelogram 7
(A) 217° (B) 215° 37. Out of the following fractions which one
(C) 265° (D) 210° is the second lowest ?

— e mm— e —

31.  The area of a square is 256 sq.co. What is

the value of the double of its perimeter ? (A) ljl' (B) %
(A) 64cm (B) 30cm 7 s
(©) 182¢cm D) 128cm © 18 (D) 3
A : dra Kurmar
‘TM 3 %'ﬂ Zordination Commiies



38.

41.

%uf%of%oflﬁﬂ=?

(B) 728
D) 612

(A) 648
(©) 762

If (20)° is subtracted from the square of
@ number, the answer so obtained is
4321, What is the number ?

(A) 111 (B) 112
() 113 (D) 114

Inhuwmydiffarammjmcaﬁm
letters of the word POWERS be
arranged ?
(A) 640
(C) 1440

(B) 720
(D) 360

62626 - 6262 + 626 -62+6="7
(A) 56934 (B) 56494
(C) 54694 (D) 54664

If (9)* is subtracted from a square of a
number, the value so obtained is 544.

What is the number ?
(A) 25 (B) 27
(C) 26 (D) 32

24 [676
121 *\/149="

7
(AY 3 By B

—_—

4
© %7 O 27

at

47.

W‘&M‘

What is 214 times 98 ?

(A) 21070 (B) 20972
(C) 21640 (D) 20492
15% of 7=94.5

(A) 14.175 (B) 141
(C) 630 (D) 1410

61% of a number is 9028. What is 46%
of that number 7

(A) 6660
(C) 7104

(B) 6956
D) 6808

AMsmvmaMGflﬂSkmm
24 hrs. What is the average speed of the
bus 7

(A) 62 kmph
(C) 64 kmph

(B) 68 kmph
(D) 89 kmph

What is the compound interest accrued
on a sum of T 1800 at the rate 4 p.c.pa in
2years?

(A) T1846.84 (B) TI156.84
(C) T19460 (D) T 14688

49. The ratio between the present ages of a
girl and a boy is 5 : 4. Four years ago,
the boy’s age was 24 years. What will be
the girl’s age after five years ?
(A) 39 years (B) 40 years
(C) 32 years (D) 46 years

50. 648+54x14="7
(A) 134 (B) 146
{C&\&&&tﬁw (D) 168

IEB“-EBM 20
:.w““"



5.

52.

6l.

62.

GENERAL ENGLISH

Directions (51-53) : In the following questions,
out of the four alternatives, choose the one which
can be substituted for the given words/sentence.

That which lasts for a short time
(A) rotatory (B) regular
(C) transitory (D) repository

A person who believes in total abolition
of war.

(A) Pacifist (B) Communist
(C) Socialist (D) Fascist

Ready 1o believe anything.

(A) }Crmduluus (B) Incredible
(C) Credible (D) Incredulous
Find the misspelt word.

(A) archery (B) ardous

(C) authenticity (D) authority

A person who on his own effort
has the best chance to win.

(A) relies (B) makes

(C) runs (D) puts

All the applicants and the results

will be announced next week.
{(A) are to be ranked(B) are to rank

(C) rank (D) ranking

Find the misspelt word.

(A) orthodox (B) euphoria

{C) utilitarian (D) enemys

Find the misspelt word,

(A) osophagus (B) heart

(C) spine (D) diaphragm
She is beautiful brave,

{A) vet EB} but

{C) so D) and

All the decisions, are likely to be
taken by consensus.

{A) somehow (B) however

(C) forever (D) anyhow

The old man could not remember where
he ___ his money,

(A) had deposited (B) is depositin
(C) i.viildcppons;it (D) deposits i
She had frequent toothaches. So she
decided to

(A) having her teeth removed.

(B} remove her teeth.

(C) removing her teeth.

(D) have her teeth removed.

At one time, Mr. Ram . this
supermarket.

(A) was owing (B) uséd toown
(C) owned (D) had owned

Directions ((). 64-66) : In the following
questions, out of the four alternatives, choose the
one which best expresses the opposite meaning
of the word given in capital letters.

64,

A

REPEL
(A} continue SB} attract

(C) attend D)} concentrate E:

'ﬁ"'“j

o
oi

65.

66.

&ITALLII_‘JG (B) homit
)} scarin orrifyin
(C) consoling (D) slvm':l-'.:u'agE
PACIFY

{A) threaten (B) challenge
(C) enrage (D) quarrel

Directions (Q. 67-69) : In the following

the o

ons, out of the four altemnatives, choose
one which best expresses the meaning of

the given word.
67. BECKONED
(A) sent (B) acquitted
(C) called (D) accused
68. OBSTINATE
(A) clever (B) pretty
(C) silly (D) stubbom
69. DECREPITUDE
(A) crowd (B) feebleness
(C) coolness (D) disease
70. Are you really desirous visiting
Japan ?
(A) about (B) in
(C) of AD) to
71.  The sky is overcast, we the storm
will soon burst.
(A) trust (B) expect
(C) suspect (D) hope
72. The candidate’s itiop was

for its brevity and clarity.

Eﬁ; incomprehensible
COnspicuous

(C) remarkable

(D) limen
Directions {??-?5} u:rym the following

questions, four alternatives are

id[om;‘rhrm in bold in the sentence. Choose

the

given for the
ternative which best expresses the

meaning of the idiom/phrase.

73.

74.

75.

The king had been made to eat humble pie.
(A) to have an excellent dish.

(B) to have to apologise.

(C) 10 eat slowly.

(D) to eat a good pie.

The Saint’s life was an open book.

(A) an example to all.

(B) an uncomplicated one.

(©) anintercstinf biography. -

(D) one that held no secrets.

He has a very nice manner, but %nu

would better take what he says with a

grain of salt.

(A) 1o talk sensibly

(B} 1o criticise

(C) to listen to
considerable doubt.

D

something  with

@irendTR s
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14,

15.

16

17.

“Bar Code" prinmdnnmuﬂmmwusmmnqthcumpmdminmymymmtﬂd: otherwise the

candidature will be rejected.

T T T oY e T et e e anf 5 w4y v Pl o ferpe ¢ o = g o

# sy v i SefEnt 19T A S |

Candidate must not leave any mark of identification on the OMR Answer Sheet as this may lead to disqualification.

S T T W T I w4+ S S g% I % e s sow & o g §

Put your signature on specified space on the OMR Answer Sheet otherwise your answer sheet / candidature will

be rejected.

ﬁﬁ%mmmMHWMMthmﬂﬁmﬂh@ﬁﬁ#ﬂﬂ@ﬂ
|

In case you do not ahide by the instructions as given in the OMR Answer Sheet, your Answer Sheet is liable to be

rejected for which you yourself will be fully responsible.

U, T T 5 P T e oy Oy e e T e 3 SR O ) T 9 e o W & ol

T fort sreedl e o w9 @ et E

IHT UNE B AT Wi 0EH

ANSWER-SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER. BEFORE FILLING IT UP, THE

CANDIDATES MUST READ THE INSTRUCTIONS PRINTED ON ITS BACK SIDE.

SO T 3 AT, T S R e e g W ST | S A & O e e i s e

W AENEHES FEvE 9 @

The Candidate must write legibly his name in English in the prescribed space using blue / black ball point pen.

T 37T A S A Ene we & e/ e w | e w5y | i e w e

Name, Roll No., Examination Centre, Question Booklet Series and Registration No. should be written on the
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1. The questions are of multiple-choice Emhqunﬁmisprwidedwﬂhnnumbuufchnimnfmm,num
which ONLY ONE is MOST APPRO .mmwmmﬂwmmmdrdcrmﬁddinfmmu
the question number, using Blue / Black Ball Point Pen only. Any candidate uses the pencil for darkening th
answer sheet his/her answer sheet will be rejected.

mq-fqmmﬂ-:tlMHﬂ#ﬁﬁﬁ#nﬁhﬂ#ﬁ#hﬁwﬂmﬁaﬁmhwﬁEﬁi
mm#mmmﬁm#mm}ﬁ%;mmmm##nm
I T T B I W R A |
Example : Hmmtmwfmqmﬁmmiﬂisﬂmchoiu'ﬂ‘.thmdlrkmmnimlrb'infrunmi’qmtlunm.'
as shown below :
£ B 2 e e 0 % o fermw D¢l Fe B, A W s o % w5 D A e

HHW T

Nl @AEOO
QN2 @®EOO

QN9 BOEO®
2 (@) The circles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
e w9 C-1 H T T FEEE e =t Sfieft / ETE AT W HEE T O €
(h) The shading should be dark and should completely fill the circle.
Tire S U T O T A ey |
{c) Dnlyuqtciml:mmpnndjugwﬂmmmuppmpﬁmmwshwidbcdutmuduahawheluw:
mﬁwmm#mﬁuﬂmwﬁfﬂﬁﬂWWﬂmm#&mwh

Correct /T8 : Q@ O© @
ot/ - QOO @ « OOOD * PPOF - POO®
ot/ - @ O M@ « OOOD « OO BP x OOME

Icorrect /7o : A ® ®© @

Note: CAREMUSTBE TAKEN NOT TO DAMAGE THE OMRANSWER SHEET IN THE PROCESS €
DARKENING APPROPRIATE CIRCLES.
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Q. Booklet Series TEST BOOKLET-2016
et w=n ufign-qfEET-20%  Test Booklet No.
This Test Booklet contains UNATTACHED OMR Answer-sheet inside.

TH UG % ST SHANA SN N IR g § )
TIME : 2 Hours Na.of Questions : 100 Section

. . General English 25

| ;1 6T ?H'II'H'.IIHI Geaeral Knowledge 15
Mathematics 25

General Hindi 25

uE b b

[EET S 15

A 7 25

Qiic 25

wwra et 15

Note : Please read the “Instructions to Candidates” and then fill up the following accordingly,
Atz u&mﬁ#ﬁﬁiﬁﬁﬁmmmﬁﬁ !

1.

2.

Candidate’s NRIIE D ccccmerimmmmmsssimssissrstriisssssisssss s tsbsretsss s

witeme w1 A

Candidate's Full Sign. @ . s : -

T T E

Roll No. (Fill in digits and words as shown in the Example given in A-3 below) :

Trer s, (e ol A3 o e v SaTER T 3 SETEIT ST aur YRt W W) ~

lstr:ﬂ?n No. :
ﬂm‘n’ e

|

Name of Exam. Cenire : . bbb e leh
THET g AT
INSTRUCTIONS TO CANDIDATES

Thubmkl:lmm!ﬂ-" and an Answer Shiset is kept unattsched inside the same.
1 TEE QR T 16 TS § A9 YO ST U ST 3 A T §

Before attempting the question whﬂrMﬂnTwMNm&ﬂMﬂmﬁmNmmuhwﬂ
each other, If they do not mateh each other, replm Test Bookiet and OMR Answer Sheet immediaiely,

mwﬂmﬂiiﬂn‘lmmﬁzg T e #ummmmmuﬁiﬁq i
afe & 7 AF1 & A OMR, ST 57 S50 7 |

As spon as the booklet is du:mh-.ued Examinees are directed o confinn the number of pages, legibility of piinting
eic., before writmg dovwn the Roll No. / Nume ! Regiaration No./Centre of Exam. ete on the booklet.
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10.

iL

. Roil No. should be wiitién in digits 15 well a8 in words in the appropriate Box provided st serial-3 above on the

upper partion of the front cover page of this Test Booklet as per the example given below -
e e T T o S 0 ) W S T e di o AT (58 T S & s e
=T

sty o sl R t]slz]alelols|2]6]7
Example (FTTETT) = Roll No. (717 5) : 1523098267 sTFtriTlzIN e[ 5 ]S
Nlt|lwln|e|1]|r|{w]|l]|E
Elv|io|rR|r|N|G|O|X|V
E Elo|E|H E
E T N

Example / FETETCT

In case the distributed booklet (including OMR Anvwer-Sheet) is found defective by a candidate, he must compliin

about it within 10 minutes of its distribution and musi gel the defective booklet alingz with the OMR Answer-Sheet

exchanged with a fresh one. No complaint for exchange of booklet will be eatertuined later than 10 mnutes after

distribwtion s

ey fewaty ot s 2t Tt e e (v afe) St orl w9 faefie e o & 10

iz & 3T g v o 39 et wserEr S wieE | T 10 etz T it e # T

& femt i oreram wiem At A

In the Test Booklet, there are 25 questions in each of the four sections namely (1) Generl English (i) General

Knowledge (i) Mathematics and (1v) General Hindi, Thus, 100 questions in all are to be unswered.

T i % e W W A (§) W S () S A (i) e v (iv) v el | A wE

wUEF 25 W E | 99 T 6 100 Wl I R |

If there i any difference between English version and the corresponding ransiated version-in Hindi of any

question, then the English version will be trested as authentic. ST :

3y s | o et wee i 3 e ST § w1 o &, 6 e o Hie e f e am

Each Question is of | mark, which will be awarded for the correct answer. Zerd mark will be given for incommect

Answers and Questions not answered. More than one Answer indicated against o Question will be declared as

incomect Answer, ;

e WY 3 o e i Pt § o et ae  ford e wvRm 1 e 3w e o e o S R

AT 3R o e 3 e S | 4 e e & forl U @ e 3a il S At 90 30 e o

T FET HE A |

Use of Calculator / Slide Rule / Log Tuble { Graph Paper / Chiarss or any electronic gadget g, Mobile Phode,

Bluetooth, Pager etc., is not allowed. ] [ i

ﬂmﬁ?rﬁlﬁﬁrﬁh%ﬁﬂfmﬂﬂﬂm{#mfﬂ&m#mmwwm,

M, T 31 I &

Any candidate attcmpting or using unfair means or copying or detaching any page of question booklet or marking

the answer on the question booklet will be expelled and his candidature wili be rejected

i BT TR ST TR, TR i S, T B S e W 3 W 37 e e A At

=2 i A Frepta e s i SEnt Seean) 1T S a1 A | _ ,

Candidates must also folfow the instrictious, which may be given by the Centre Superintondent from time & time.

i & & Fnd g we e fg e Frde e odieal W T S

THIANTHATMENTIONEDINA ABOVE. sz

#m 4 3 afry Pl 7 Brga aem 7 Tt s /o a v Rt ot il @ R s

SUBMIT THE WHOLE BOOKLET ALONG WITH THE OMRANSWER-SHEET AT THE END OF EXAMINATION.

T S W 57 3 U % A R e A S E

Rough work mast not be done on the OMR Answer Shect. Free space provided in the Question Booklet should

onty be used for this purpase. b
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GENERAL ENGLISH

Directions (Question Nos. 1 — 5) : In the
following questions, out of the four altematives
choose the one which can be substituted for the
given words/sentence:

1. Oneindifferent to art and literature is

Directions (Question Nos. 6 — 10) : In the
following questions, scntences are given with
blanks to be filled in with an appropriate
word(s). Four altematives are sugpested for
each question. Choose the correct one.

(A) philistine 6. Weshould _ opporunities as
(B) sromantic they arise.
(C) scholer (2) s
hE (B} seize
(D) Eritic ©) size
(D) cense
2, A narrow piece of land connecting two
large masses of land 7. The  studems  arent  prepared
OkY il == < e 1 00 0 @ Emmas _ the examination,
(B) peninsular (A) togive
(©). ot {B) totake
inen (©) 16 work
(L3} isthmus (D) to listen
3. Open to injury or eriticism B. We didn"t the programme
; to be such a huge success.
(A) sensitive .
{A)  access
(B) invincible (B) accopt
(C) wulnerable (C) cxcept
(D) naive (I expect

4. Government by & small group of all
powerful persans

9.  The Government, in 8 bid to make Bibar
a preforred investment destination, has
major schemes o creale

—— e —

(A)  pligarchy infrastructare at different stages.
(B) monarchy (A)  opened
(©) de i (B) lsunched
(D)) anarchy ) %
(D) pushed
5.  One who collects coins as hobby 10" Tsuffer fromno ___about by
(A) statistician CRpRiitic.
- 1 (A) hallucinations
(B) philatelist
. e (B) imaginations
() ornithologist [{'% illugions
(D) numismatist ‘ & d‘ﬁﬂw
A ) ,I{ T S
O L™ s



Directions (Question Nos. 11 — 15): In the
following questions, out of the four alternatives
choose the one which best expresses the
mesaming of the given word as the answer.

11. Diligen
(A) great (B) hard working
(C) conceited (D) proud
12.  Proximity :
(A} prospect (B) affinity
() rapport (D} neamess
13.  Garrulos
(A) friendly (B) talkative
(C) important _{D] grumpy.
14, Zenith
(A} pinnacle (B) reality
(C) ideal (D) hope
15. Fallacy

{A) mistaken behef

(B} unfounded fear

(C) famous invention
(D) smart move

Directions (Question Nos. 16 — 20): In the
following questions, four alternatives are given
for the idiom/phrase written in bold. Choose
the allernative which best expresses the
meaning of the idiom/phrase.

16. The secretary had the information at her
fingertips.
(A) not accessible
(B} in the compact disc
{C) onatypewrler
(D) readily available

17. Consoling her daughter, the mother said
that there was no use crying over
spilled milk.

(A) complaining about an event that
cannot be changed

(B) tocry having a glass of milk

(C) toslip and spill milk

(D) worrying about the milk that was

18. To take the bull by the horns
(A) toinflicta crushing defeat upon the
enemy
(B) to face danger
(C) 1o restrain anger
(D) ‘to check rumours from spreading

19. She keeps blowing hot and cold and
Il_\m':fum nobody can befiend her for
long
(A) being good and bad aliernately
(B) being unfriendly and critical
() being friendly at one moment and

unfriendly at nex

(D) ‘trying to cool the situation down
and then raking it up again

20.  In spite of his recent financial troubles,
Ashok has not leami to cut his coat
according to his cloth.

(A) wear modest clothy

(B) to improve his taitoring abilities
(€} live within his income

(D) overcome his problems

Directions (Question Nos, 21 — 25): In the
following quiestions, there are four different
words out of which ‘one is misspell. Find the

misspelt word as the answer,
21.  (A) rerritoreal (B) pharmacy
(C) rapture (D) remainder
22. (A} cartilage (B) marriage
(C) privilage (D) camriage
3. (A) nutocracy (B) hypocrisy
(C) democracy (D) idiosyncracy
4. (A) laborstory (B) dispensery
{C) foundry () observitory
25. (A} gauge (B) gauze
(C) gaudy (D) gaurantec
o:*.'t-;u;'.:;u'“““‘w A
oume A0e ?‘*1}'5-'



16.

27.

29.

il

3l

33

3.

GENERAL KNOWLEDGE

In which categories did Mare Cune win
her two different Nobel Prizes

(A) Physics and Chemistry

(B) Chemistry and Medicine

(C) Physics and Medicine

(D} Chemistry and Pesce

Which among the following s tenmed as
“Hot Money™ 7

(A) FlI (B) FDI (C} ADR (D) GDR
Wiiich ¢ountry’s Constitation is 8 mixiure
of hoth Parfamentary and Presidential
form of Government 7.

ts!u‘.i USA Lg)' Germany

) France () Great Britain
Cipium is a plant product obtamed from :

%‘: m;i leaves }E} mﬁf:x

Which one among the following is not a
unit of weight ?

A) Pou B) Kiogram
Q(C] Gram D) Dyne
The largest tiger reserve in India is :
{A) Pench (B) Corbett
(C) Nagaruna (D) Manas

The first Chief Election Commissioner of
India was

{A) T.Swaminathan

{B) Sukumar Sen

(C) K.V.K. Sundaram

{D) S.P. Senverma

The colour of cow’s milk is shghtly
yellowish due 10 ceof

{A) Ribeflavin (B) Carotene
{C) Ribulose (D) Xanthophyll

Who among the following attacked the
Somnath temple ?

(A) Mahmud of Gami

(B} Mohammad Ghori

(C) Dtutmish

(D) Qutubuddin Aibak

Which of the following fusls causes
minimum environmental pollution 7
tA) Diesel (B) Kerosene
(C) Hyvdrogen (D) Coal
ATM stands for
A} Automatic Teller Machine
Automated Teller Machine
E}_ Automatic T;Il? Machine
D) Automated Tally Machine
Growing more than onc crop on 4 piece of
land during the year is known as -
}ﬂ; multiy mm;pmg' i
m ec g
{C) dﬂﬂb‘g cropping
(D} triple cropping

6 e
@'ﬁvqr'ﬂb ' W‘M '

38.

39.

41.

41,

45.

47.

49.

Eﬁ} 1S.A.

The judgs nl‘thrﬁupmmﬂmm-tgﬁduﬁ'we'
(A) Till the Presdent of India directs
them to hold the office

(B) Till the Parlinments allows them 10
hoid the office.

¢} Till they attain the age of 65 years

D) Till the age of 62 years.

Mahatmy Gandhi  started  hes “Dandi

March" from:

{A) Dandi Eﬂ} Porbandar
Ahmedabad

(C) D) Ssbarmati Ashram
Which is the only mammal that can fly 7
{(A) Whale EB] Dragon

(C) Bat D Lizard

Who gave the title of “Sardar” to Vallabh
Bhai Patel 7

iﬁ} Mahatma Gandhi
B) Vinoba Bhave

(C} Women of Bardoli

(D) Peasants of Gujarat

“Yosemite' isa

(A) River (B) Peak

(C) Waterfall (D) Dam

The first Indian Satellite “Aryabhatt” was
launched in b

(A) 1972 (B) 1975(C) 1977 (D) 1979

Bhopal Gas Tragedy of 1984 is related to
A) Aluminium Phosphide

B) Methyl Bromide

C) Methyl Isocyanale

(D) Carbon dioxide

‘{hh“hm;-di.d Aunrangzih ﬁlic ?
une Aurangabad
[f'% Ahmednagar %D‘l Mumbai

Who coined the name Pakistan ?
(A) Md. Ali Jinnah
(B) Faziul Hague

(C) Liaguat Ali Khan

(D) Chaudhary Rehmat Ali

Who was the first Indian winner of Miss
Universe title ?

{A) Rita Fana {B; Aishwarya Rai
(C) Lara Dutta (D} Sushmita Sen
Which is the only country whose postage

do ot bear its name ? i
(B) UK.
) Japan i
Stains of rust on cloths can be removed by
A} ‘Oxalic Acid '
) Petrol l
U:z Aleohol '
(D) Hydrogen Peroxide

Blood G discovered

(A) wmrﬁl‘;ﬁw m‘; unt:tmm
(C) Paviov (D) : ,
o pa

—

D.dﬁﬂn
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MATHEMATICS

The square root of 33 — 433 is
(8) 2T +[5)
(B) +(\7+23)
(©) +(J7-245)
@) +(7-\5)

If a +1 = & then the value of a2 +a% + 1
is

(A) =3
© 2

B) 1
(Dy 3

o AABC ZA: /B 20C=2:3:4.A
line .drawn parallel to AB, then the
ZACD s

(A) 40°
(C) 80

(B) 60°
(D) 20°

A can do a piece of work in 12 days
while B alone can do it in 15 days. With
the help of C they can finish the work in
5 days, If they are paid ¥ 960 for the

whole work, how much money A gets 7
(A) 2480 (B) 240
(©) T320 (D) T400

The interest on a certain sum of money
is ¥ 22 and the true discount on the same
sum for the same time and at the same
rate i T 20, Find the sum.

(A) T220 (B) 2200

(C) 2210 D) T212

If xy(x + y} = |, then the value of
lf{x?’-y"*_.]'—r}—'y’.is
(A) 3
€)1

(B) -3
(D) -1

57. Maximum value of (2 sin © + 3 cos 0) is
(A 2 (B) 313
(€) 15 (D) 1

88,  The least mumber which must be added
to 1728 (o make il a perfect square is
(A} 36 (B) 32
() 38 (D) 30

9.  If goods be purchased for T 450 and one

third sold at a loss of 10%, At what gain

percentage should the remainder be sold
so as to gain 20% on the whole

transgetion 7
(A) 32% {B) 35%
(C) 28% (D) 30%

60, If ow of 10 selected students for an
examination. 3 were of 20 years age, 4
of 21 and 3 of 22 years, the average age
of the group is
(A) 22 years
(C) 21.5 years

(B) 21 years
(D) 20 vears

Area of the floor of a cubical room is
48 m*, The length of the longest rod that
citn be kepl in that room is

(A) 9m (B) 12m

(€) 18m (D) 6m

6l.

What will come in the place of question
mark (7) in the series ?

3.8,27, 112.(7), 3396

(A) 565 (B) 680

() 1260 () 320

63. For a tnangle circumeentre on one of s
sides. The tnangle is

(A) Rightangled
(B) Obtuse angled
(C) Imm

S— —




64. [fa=4011 and b = 3989, then value of M. Two successive discounts of 10% and
ah=" 5%, in this order, are given on a hill of
: 2 10, Find the net amount of money
(A) 15990879 (B) _1;..3993?9 péyable to clear the tall
(C) 15989979 (D) 15998%79 (A) 204 (B) 95
(C) T96 (D) T97
65. The compound interest on & certain sum
of money st a cerlain rate per annum for
2 years is T 2,050 and the simple interest Tl A geometrical figure has at least four
on the same amount of money at the lines and the opposite lines are parallel
same rate for 3 years is ¥ 3,000, The sum t each other and the oppasite angles are
of money is equal. What is that geometrical figure ?
(A) T20000  (B) T18.000 (A} Equilateral triangle ’
(€) ¥ 21,000 (D) ¥ 25000 (B) Parallelogram
(C) Trapezmm
66. The value of feos™60° + 4sec?30° - (D) Hexagon
tan*45°} | fxin? 30° + cos? 30°) is
(A) 8645 7 s . Thevalue of S5+ 15 x 5[ 10+~ s
(C) 67/12 D) 67/10 -3
6. F S i i (A) I5 (B) 67725
" rom a pomt P en the ground angic
of elevation of the top of a 10 m tall (©) 128011 (D) 128/99
building is 30°. A flag is hoisted at the
top of the building and the angle of i = S0 HE e
elevation of the top of the flagstaff from 73, Find two mean proportional between 2
P is 45°. Find thie length of the Ragstaff o 0, l[
(Take[3 =1.732) (A) Gand I8 (B) 6 and 12
(A) lg{-ﬁ +2)m {(C)} 12and 18 (D) Gand9
(B) 10(/3+1)m
74. A tap drips at a rate of one per
(€) 103 m second, 600 drops make 100 ml. The
(D} 732m number of litres wasted in 300 days is
(A) 4320000 (B) 432000 q
68. A speed of 45 km/hr is the saime as (C) 43200 (D) 4320
(A) 125 m/s (B) 13m/s
(C) 15m/s (D) 12m/s 75. A plate was sold for T 6,300 after giving
two successive discounts of tz,l;% and
69. The value of 10(1 +13-4-8)/5 10%. Find the marked price. 1
(A) 2.5 (B) 15 (A) T 7300 (B) ¥7,700
(€) 22 ) 4 (€) % 8,000 (D) T7.250
A i st .
. L Bives wdr . n'g';“ Gommitie l
- g‘l,. o "
v Comvsiohe ™ _gum patna
District
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77,

82.

85,
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17.

1

“Bar Code™ printed on the OMR Answer Sheet must not be tampered or in any way marked: otherwise the
candidature will be rejecied.

et T S T T T el o e e i 7 e A o Fet v A fgp 6 offt A P 6

# ey Gt o) FedANT 755 T 31 I i
Candidate must not leave any mark of identification on the OMR Answer $heet as this may lead o disqualification.
o7 T I et W e A 3 BTE S=74T T FEEITAN 35 FAy HEaa F 4 A qw
Put your signature on specified space on the OMR Answer Sheet otherwise your answer sheel / candidatuere will
be rejeated.
airuJ'nrw T Y T A T S e A T, S S S T Fefieant & T e
e = :
In case you do not abide by the mstructions ds given in the OMR Ariswer Sheet, vour Answer Sheet is linble 1o be
rejected for which you yourself will be fully responsible
. AW e e T h&sﬁaqwqﬁmwamiﬁ?wmaﬁwwﬁmwm%m
e o aveelt T O H S A o

' for F i W 1
IAT UAE S WA w uhe
ANSWER-SHEET 1S OF OMR TYPE TOBE READBY COMPUTER SCANNER. BEFORE FILLING IT UF, THE
CANDIDATES MUST READ THE INSTRUCTIONS PRINTEDON ITS BACK SIDE,
T T S A, S A R e e ERT g A | G M % S T T St e
I HEHES S T
The Candidate must wrile legibly his name in English in the proscribed space using blue / black ball point pen.
el ST T SR o A e e A A we e e ey | Faife w0 o )
Name, Roll No,, Exantination Céntre, Question Booklet Series snd Registration No. should be written on the
Answer-Sheet in Computerised format. The Digits should be written in lopmost boxes in blue/black ball pont pen
and the gircles corresponding to the digits be blackened with *Blue / Black Ball Point Pen only™.
S T T R S O A, T TR W S 6 A, e iRt w1 aftfio, ettentor e s
T T AT W W A | S & A e st AT SRS Fer | Al /| EE e 9
sitr wrafe Tl % s S/ FTe At wge S A TS
Example : If the Roll No. i 1323098267 and the Regiswation No. is (64032, then the digits will be-written and

the corresponding circles will be darkened as shown below.

aTETeT i T I 1523008267 & A e HEA 164032 &, A A B srpa o el i s

st TR 3 At |
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alolelelee@e|ee @e |6 |o|e|d
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4 The Candidate must put his full signature i the prescribed spaces using blue / black ball point pen.
et et / it oo EdE SRR R e T T A e |
C. Process for Filling Answers on_the Answer Sheet :
T T U 3T WA i HOe
1. mqmﬂjmsm.nfmlljple-chpiuW,Emhqu&mniipmvﬂdmlh:amﬂﬂhﬁdthimqfﬁmﬁ&} ot of
which ONLY ONE is MOST APPROPRIATE, The candidate must darken the sppropriate circle peoéided m front of
the, question number, using Blus / Biack Ball Poinl Pen only. Any candidate uses the pencil for darkening the
answer sheet hiz'her answer sheet will be rejected. :
o e wa | it o o Ferit Tl TR et G e U ) WA s £ | EL
mm-#mﬁwmmm&mm#%nﬁhﬂﬁﬁﬂﬁ: e Wi I = B 10 A |
ST 3 SAY T ] 7% w7 o S _
Example:  If comrect angwer for question na, 9 is the choice ‘D). then darken the circle D7 in Sant of question no. 9
as shown below : _
werer ¢ w0 % fed e <D W 3O €. Al W H 0 AR TS o = A e
Y T
el OO
ez B®EOO

N BAOOO
2 @ 'nueir;ru,a;mmmc-l.mm.mhcdmmwmm:mnﬁ'—m—m
i B C-1 T S T SRR e ) A/ T ST gz e e e
{b) The shading should be dark and should completely fill the circle. :
TR O T H AT ORI AT S |
(¢} Only one circle corresponding 1o the most approprnie answer should be derkened o= dows beive |
mmaﬂté‘mﬁwﬁaﬁm#ﬁﬁﬁmmm_hﬂﬁiﬂ:

Corect (T8 D@ O @ & &
oot/ 78 - D@ MO « OCOO « OO SP = OEHS

Incorrect/ TAT @@@

Note: CAREMUST BE TAKEN NOT TO DAMAGE THE OMR ANSWER SHESY 2% THE PROCESS OF
: DARKENING APPROPRIATE CIRCLES. emea i
Sz OMR 39 T S U Tite ) S 4w U ot v e e e S |
= 3 _
(d) The candidates must fully satisfy themselves nbout the accuracy of the o dmgkes ]
circle using biue / black ball point pen only s no change in answer once skl allowent Tisc of cruser or
white / correction fluid on the answer sheet is not permissible as the answer sisss e mmitse gradble and

it may lead 10 wrong evaluation.
ST Ti], W A | i A e He # T | T 30 = O S S
& fa T | TR H I TE E I e O 0 S e sea ek L=
TR T 0 A £ Tz S S A A T i S S . — F e e A
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(e) Ifmore than one circle is darkened using Blue/Black ball point pen or e =T &= =y other
manner or as shown in “Incorrect method” abave, it shall be treated g ! S
af T % e T 3 AT ) e AT S HER T S N ——
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PROPOSED ANSWER FOR SCREENING TEST HELD ON 21

-08-2016

1 A [ & D
2 ) 52 D
3 c 53 B
B 4 A 54 D
5 D 55 7 .
6 B 56 A
7 c 57 B
8 D 58 A
8 B 59 B
L 10 & 60 B
| 1 B 61 B
12 D 62 A
! » 8 63 A
14 A 64 A
| 15 A 65 A
I 16 D 66 e
17 A 67 D
18 N 68 A
19 c 69 D
20 c 70 A
o A 7 5
22 c - 72 A
23 =) 73 L,
24 B 74 D
25 D 75 c
26 A 78 c
27 A 77 B
28 c 78 A
29 D 79 C
30 D - 80 A
31 e 81 €
2 B 82 B
33 B 83 B
34 A 84 c
35 e 85 D
3 A 86 D
37 B 87 B
38 c 88 B
39 D 89 c
40 e 90 A N
41 A - 91 c
42 [ 92 [
43 B 93 B
44 c 94 c
45 - 95 B
46 D 9% D
47 D 97 c
43 B 4 98 G D
49 A 99 A
50 B 100 B




